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I . Multiple choice. (20%)
1. In with the developed countries, China gains a huge relative comparative

advantage in labor.

A. comparative B. comparison C. comprise D. compare
2. Companies must to changing customer needs to win sales.
A. adopt B. apply C. adapt D. suit
3. This will help you on building brand and make it easily recognizable to others.
A. concentrate B. pay attention C. depend D. maintain
4. Companies should costs comprehensively and conservatively.
A. estimate B. escape C. express D. ensure
5. Mobile phones are becoming a with shrinking profit.
A. commission B. community C. committee D. commodity
6. Sunscreen manufacturers will have to all the new rules from December.
A. comply with B. in compliance with
C. in conformity with D. confirm
7. To seek a wider market than the limited home market is one of the of exports.
A. objections B. objectives C. objects D. objectifies
8. Millions of dollars’ worth of is caused every year by floods, fires and
earthquakes.
A. collapse B. crisis C. disadvantage D. damage
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9.

10.

11.

12.

13.

14.

16.

17.

18.

19.

20.

Frequency is important because repetition helps the consumer both the product

and the advertising message.

A. remember B. forget C. read D. write
Avon is one of the typical cosmetics firms that their number of discounting units.
A. is increasing B. are increasing
C. is increased D. are increased
The contract of a minor, ‘asually a person ‘e ageof 129+is not void, but
ilabh! e
A. above B. over C. under D. about
The committee will a report after a full investigation.
A. preserve B. present C. preside D. press

my company, 1 am obliged to you and your colleagues for your generous help.
A. at behalf B. on behalf
C. on the behalf of D. on behalf of
We agree to insure the shipment for 120% of the invoice value, but the extra

charged will be for your account.

A. insurance value B. premium
C. money insured D. discount

. There is a very high tariff jewelry.
A. about B. to C. in D. on
He confirms their order based his offer dated July 15.
A. on B. in C. with D. at
They exclude him this position.
A. from B. on C. into D. out of
The deputy manager exchanged the company’s interest his personal honor.
A. with B. for C. at D. in
The two parties have reached a on this issue.
A. consensus B. consent C. census D. consort
The heads of the two companies met to the contract.
A. rationalize B. reach C. disprove D. ratify
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I. Reading Comprehension (20%)
Questions 21 to 25 are based on the following passage:

Competition refers to, in economics, conditions that are present in markets where
buyers and sellers interact to establish prices and exchange goods and services. Economic
competition is the means whereby the self-interest of buyers and sellers acts to serve the
needs of society as well as those of individual market participants. Society is served when the
maximum amount of goods is produced at the lowest possible prices.

"hi:'th oreicil ideal divelcped by <conomi'ts'to ¢stakilsh lie ~orn.aiions unde whic
competition would achieve maximum eftectiveness 1s known as “pertect” competition.
Although rarely possible, perfect competition, as a concept, provides a useful benchmark for
evaluating performance in actual markets. Perfect competition exists when (1) an industry
has a large number of business firms as well as buyers; (2) the firms on the average are
small; and (3) buyers and sellers have complete knowledge of all transactions within the
market. The practical significance of a large number of small firms and many buyers is that

the power to influence the behavior of the participants in the market is thoroughly dispersed.

In other words, no single person or business has the power to dictate the terms on which the
exchange of goods and services takes place. Market results then are truly impersonal. Under
conditions of perfect competition, economists contend, goods and services would be
produced as efficiently as possible—that is, at the lowest possible price and cost—and
consumers would get the maximum amount of the goods and services they desire.

The absence of perfect competition in most markets led to a search for a more realistic
alternative to evaluate performance in specific instances. Among the best-known alternatives
is the concept of “workable” competition, developed by the American economist John M.
Clark in 1940. Clark recognized that in most industries the number of business firms is not
so great as to preclude an individual firm from having some power to influence market prices
and conditions. In addition, participants rarely have complete knowledge of market
conditions. According to Clark, however, departures from the ideal of perfect competition
often are not great enough to warrant government intervention into the market (through
antitrust action or direct regulation) in order to improve the situation. Competition may be
workable in the sense that the results achieved are roughly comparable to what is supposed to
happen under the theoretical ideal of perfect competition. The chief drawback to the
workable-competition concept is its vagueness; no precise criteria have been developed to

determine when workable competition actually exists.
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21. Under the competitive markets, buyers and sellers

A. try their best to satisfy each other’s interest

B. acts to serve the needs of society ignoring their own interests

C. interact to establish prices and exchange goods and services

D. try to serve the society at the lowest possible prices
22. “Perfect” competition refers to conditions where

A. maximum effectiveness of competition would be achieved

. ‘her:a { w busine s fi ms as will ai b ye's

C. th! cimyp in'es on'heav rage a-e cery biy

D. competition would be workable
23. The practical significance of a large number of small firms and many buyers is that the

power to influence the behavior of the participants in the market is thoroughly

dispersed. The underlined words in this sentence mean

A. distributed widely B. disappeared completely

C. vanished gradually D. driven off completely
24. Which of the following statements is NOT true according to the passage?

A. Perfect competition exists only in developed countries.

B. Actually, there are often no perfect competitions in most markets.

C. The concept of “workable” competition is a more realistic alternative to evaluate

performance in specific markets.

D. The American economist John M. Clark developed the concept of “workable”

competition in 1940.
25. If the results achieved are roughly comparable to what is supposed to happen, you may
say that competition may be

A. perfect B. profitable C. theoretical D. workable
Questions 26 to 30 are based on the following passage:

Transportation systems and the routes they use have greatly influenced both how and
where people live. Reliable transportation allows a population to expand throughout a
country’s territory and to live comfortably in remote areas far from factories and farms. The
growth and expansion of the United States were directly related to the means of
transportation available at the time. The more compact cities of the U. S. eastern seaboard
are the result of early human and animal-based transportation systems that allowed only
short trips. The more sprawling cities of the western United States are the result of an

automobile-based transportation system that permits much longer travel distances.
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Transportation is vital to a nation’ s economy. Reducing the costs of transporting
natural resources to production sites and moving finished goods to markets is one of the key
factors in economic competition. The transportation industry is the largest industry in the
world. It includes the manufacture and distribution of vehicles, the production and
distribution of fuel, and the provision of transportation services. In the 1990s, approximately
11 percent of the U.S. gross domestic product and an estimated 10 percent of all jobs in the
United States were related to the transportation industry.

‘hy 'sa ne rasportatic « sy stems het litik & na'1or can. 250 »cvuse <ioothe natior’ s 'wa
Afcitss Tlietap.d tnoveri.cut of troops, equipmient, cud suppiies vz beradeciding facior in
winning a battle or a war. Just as mobilizing a nation’ s military strength is critical to
success, disabling an enemy’s transportation system is usually an early strategic objective of
any armed conflict.

26. Which of the following isn’t the benefit brought by transport?

A. People can live throughout the territory of a nation.

B. People who live in remote regions can lead a comfortable life.

C. People can enjoy better medical care.

D. People who live in remote areas can keep in touch with the outside world.

27. Why are the cities of American eastern seacoast so densely populated?

A. Because the cities are economically prosperous and people like to live there.

B. Because the earlier transportation tools were able to transport large amount of

passengers.

C. Because the climate there is enjoyable.

D. Because the earlier transportation tools couldn’t travel long.

28. Which of the following is the contribution made by transportation to economy?

A. Tt makes faster delivery.

B. It makes quicker payment.

C. It reduces the transportation cost.

D. It makes higher quality of the products.

29. The transportation industry doesn’t include

A. vehicle manufacture and distribution

B. fuel production and distribution

C. the provision of transportation services

D. the transmission of knowledge
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30. Which is usually an early strategic objective of any armed conflict according to the
passage?
A. Demobilizing the enemy’s military strength.
B. Destroying the enemy’s transportation system.
C. Cutting the water supply of the enemy.

D. Mobilizing a nation’s military strength.
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II. Put the following phrases into Chinese. (10%)
31. market research

32. promising customer

33. comparative advantage

34. Test Marketing

35. cash payment

IV. Put the following phrases into English. (10%)

36. W1
37. AEEHH
38. BREAAEIL
39. H#
40. P2

V. Translate the following sentences into English. (20%)

A1, XFEE NG \FIT (discount) FEHT 42346 5 (sell of D AF1E

42, —IUH 09 & W 21k Z RE RS AU (replace) IH BT LB ™ & 22 AT RE
43. A GEFLAH (make out) % T FEULLEAT 4

44, FRATEIESF (abide by) EZK kA LN,

A5, BXAZHE R MOk A A JE AT A C 1K # (meet one’s commitment) ,
VI. Translate the following sentences into Chinese. (20%)

46. To find a potential problem in time can avoid greater troubles.

47. There is a ban on dealing in drugs around the world.

48. We should try to gain the most profit at minimum cost.

49. The quality of the export products must conform to the requirements in the contract.

50. You’d better take enough cash, in case they don’t accept credit cards.
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